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QUESTION 1

What is required before an IBM Cloud Toolchain can be executed?
A. Creator role permissions

B. A container repository

C. A Continuous Delivery service

D. A Kubernetes cluster

Correct Answer: C

Reference: https://cloud.ibm.com/docs/ContinuousDelivery?topic=ContinuousDeliverytoolchains_getting_started

QUESTION 2

A customer RFP is requesting a solution to run a scalable, elastic, and managed analytics focused database with in-
memory capabilities. Which service should be included in the response?

A. SQL Query

B. Analytics Engine

C. Mongo Cluster Service

D. DB2 Warehouse on Cloud
Correct Answer: D

Reference: https://www.ibm.com/cloud/learn/data-warehouse

QUESTION 3

Cloudant is an example of which type of database?
A. Graph database

B. Document database

C. Key-value database

D. Relational database

Correct Answer: D

Reference: https://en.wikipedia.org/wiki/Cloudant
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QUESTION 4

There is a request to architect a hybrid VMware solution in IBM Cloud to address failures in the on-premise data
centers. What additional VMware component would allow for seamless network access for workloads from the VMware
Cluster on-premise to the VMware Cluster in IBM Cloud to facilitate resiliency into existing solutions?

A. HCX

B. NSX-C

C. NSX-T

D. NCX

Correct Answer: A

Reference: https://cloud.ibm.com/docs/vmwaresolutions

QUESTION 5

What is Continuous Delivery?

A. Automating the process that moves software through the software development lifecycle

B. An asynchronous message delivery service on IBM Cloud

C. The practice of using canary deployments when delivering code

D. Frequently code, build, and integrate the work of all developers on a software project each day
Correct Answer: D

Reference: https://www.ibm.com/cloud/continuous-delivery
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